SM2E3/8 F4hi5 (BiikE)
= EEER 5 | ffifg (£ E{1558) :
[:Xiva R BOX | BOER | TEME | B # A B | keBffi | HESE{E
1 £KE3 |FE1{EE |[REA 958,000 295 365 2,625 3,247
2 SERCIE ZREA FE1EE 913,000 294 370 2,468 3,105
3 fETh=E EE# RIEA 902,000 290 360 2,506 3,110
4 BAEHE2 |REBA B B 897,000 297 345 2,600 3,020
5 SERCE ZRA ax 871,000 292 353 2,467 2,983
= 58 ER 5 | fifiA& (M L {1588)
NE L R BOX | BOHER | TEME | B # K & | keBffi | BESEE
1 EE#% ZEA ok 808,000 224 240 3,367 3,607
2 EE#% fg5 S &= 796,000 297 327 2,434 2,680
3 EE#% ZEA Bk 753,000 322 329 2,289 2,339
4 BERE2 |REBA B B 750,000 270 337 2,226 2,778
5 SEfC ZRA =353 734,000 305 298 2,463 2,407
5 EE % SR REE 734,000 317 313 2,345 2,315
T4 RIERE il (XS BB L GI588)
B4 | B ¥ | el | RIEME | FHME | FHBE | FHRE| keBif | BEEM
XERE 33| 849,000 483,000 668,909 291 337 1,985 2,299
SR AER 28| 838,000/ 552,000 676,678 289 352 1,922 2,341
EE 23| 866,000 517,000 653,174 295 335 1,950 2,214
SEXCIE 15| 913,000 535,000 719,666 296 341 2,110 2,431
ET1E 9| 689,000 334,000 554,334 306 320 1,732 1,812
RS RIER S MlAS (M BE# L {1588)
Eigd4| B ¥ | e | RIEME | FHMEE | FHBE| FHERE| kel | BEE
EXERE 21| 699,000 509,000 604,572 298 317 1,907 2,029
ERACER 14| 710,000| 493,000 629,857 287 326 1,932 2,195
SERCIE 11 734,000f 504,000 615,455 304 303 2,031 2,025
] 11| 710,000] 504,000 586,727 302 303 1,936 1,943
&TF 6| 660,000 404,000 551,000 296 287 1,920 1,861
B2 E 6| 633,000 233,000 508,834 296 297 1,713 1,719
EEFIRFRIOKE
% Al B W | el | RIEME | FHEE | FHAE| FHAE| keEil | BEEM
Pt 9| 689,000/ 334,000 554,334 306 320 1,732 1,812
69 4|  592,000] 417,000 488,000 298 321 1,520 1,638
it 13| 689,000] 334,000 521,167 302 321 1,626 1,726
TREEHES] EACFORE
% Al R BOR | BOHER | TEME | B & K E | keBffi | AEGE(E
=8 |RE REA fgs B 727,000 285 321 2,265 2,551
HY  |EFEF fgs B BEE 660,000 308 286 2,308 2,143




